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WUg - § / SECTION - A

TS W / Objective Type Questions
wr F 1% 80 7w w1 gk A faet 40 A 3 I T
v W¥T & e Wy frwes Ry my # Rt @ v w9 2 sa & 1 m
e e 5 OMR vz w Fafere # 40 x 1 =149

1 . ions. Eac
Question Nos. 1 to 80 are of objective type. Answer any 40 questt h

1 : i have
qguestion has four options out of which only one is correct. You to

mark your selected option on the OMR sheet. 40 x 1 =40

1. tﬁla?agﬁwcm%saﬁaaa&mmmmﬁ?m@’"aﬁﬂiﬂ

H1 A &

(A) 10 cm 3 U= (B),” 20 cm @ it
vf

(C) 10 cmi& %9 (D) Hﬁﬂiﬁgqﬁ

The magnification produced by a concave mirror of focal length

10 cm is positive, if the value of object distance is

(A) more than 10 cm (B) more than 20 cm

L

(C) less than 10 cm (D) none of these

H/S-24(M)/72042-(77/80)

Page 4 of 46

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

[212]
Hred @ Y9 6 AN N | qad du § amads w1 oA

K/ﬁ?ﬂﬁ . (B) wemi

TR TEa 8 (D) ¥ @ i T

On moving from focus towards the pole, the magnification in a

concave mirror

(A) increases (B) decreases
(C) remains constant (D) none of these
v faga w93 fea Fat ) faga 5ot A wwiafe s @2
() TR S B

\9/ ffes ==t (D) ardfa i

Which energy does a hydro-electric power plant convert into

clectric energy ?
(A) Nuclear energy (B) Solar energy

(C) Potential energy (D) Thermal energy

aft ) TR F @ FHaER $eeit faht gadia &z °§ off oy = @ R
W geeht d M fage ww A R 7 A o & gEm ahad

Ame?

(A) TH-duTd (B) amw
C) D) @
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i | i etic fi
A rectangular coil of a copper wire 18 rotated in a magn eld

: i ' after
The direction of the induced current in the coil changes

(A) every one-fourth rotation

(B) every half rotation

(C) every one rotation

(D) every two rotations

% I g ¥ guE g W T 1A o wfafars @} e agm
@ 21 1 R afa it R R

(A)  HHE QA TRl B I A (B) . HIHE F ¥gF H AN

(C) ¥3 & FIFE H AR (D) ¥ A T

The image of andant in a concave mirror is erect and goes o
increasing as\the-ant moves along the principal axis. The direction

of motion of the ant is

(A) from focus to centre of curvature
(B) from focus to pole

(C) from pole to focus

(D) none of these

[H/S-24(M)/72042-(77/80)| Page 6 of 40

Download all NOTES and PAPERS at StudentSuvidha.com



http://studentsuvidha.com/
http://studentsuvidha.com/

[ 212
6. m%ﬁﬂ‘ﬁmﬁmaﬁﬁﬁﬁamg |
() 3w (B) it
© g (D)  wemft wiEdfwl
The radius of curvature of the lens of an eye is controlled by
(A} retina (B) iris
(C}. pupil (D) ciliary muscles
7. 9 AIGel B U1 391 i 24T R 2

(A) TEA % HRA (B) Wi ¥ Hrw
(C)  JSINEYT e HRU (D) UEE F HAW

Why is the colour of some clouds white ?

(A) Due to reflection (B)  Due to scattering

(C) D;uc to absotption (D) Due to refraction

8. iRy 1 SI wHES gaLe
l (a) R (B) w

9/ 3w (D)

The SI unit of resistance is

(A) ampere (B} watt

(C) ohm (D) volt
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10.

11.

3 Qa1 Iy &l 8

(A)  ATP (B) CFC

(C) NADP (D) DDT

Depletion of ozone layer is due to

(A) ATP (B) CFC

(C) NADP (D) DDT
AR sl & frerd ordfPres S e g B &2
(A)  wIrwifEEn (B)  HIfAT

(C) iy (D) #R

In which of the following organisms does asexual reproducti

occur through budding ?

$
(A) F’Ir.z:;;svnm.:!iumg\\Q (B) Leishmania
S
(C) Amoeb§§% (D) Yeast
N}

q1eY &T17 &1 T Igmeor B

(A) 1AA (B) TSH

(C) ACH (D) ACTH

An example of plant hormone is
(A)  1AA (B) TSH

(C) ACH | (D) ACTH
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12. e H FHRAh YU e @
@/“'3 g @ dwEm
(€) ®e e (D) @1 gH
Vegetative propagation in potato takes place by
(A)  root (B) seed
(C) fruit (D)  stem
13, gshem w wwn &
(a) R B Wi
() FEW . (D) wda WA
Hydrilla is found |
(A) in water (B) in soil
(C) on tree (D) all of these
14. Y oAfth HORRRTH THAT Bl 3 |
(A) 140 mm Hg | ' : (W mm Hg
(C}) 100 mm Hg (D) 80 mm Hg
Systolic blood pressure of a healthy person is
(A) 140 mm Hg (B) 120 mm Hg
(C) 100 mm Hg (D) 80 mm Hg
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15, vafeh e w1 IeE
1.9/ BTsgT (B) HI™
(c) "o (D) @l
An example of bisexual organism is
(A) Hydra (B) Man
(C) Fish (D) Goat
16. "ot 4 vaad gar @
(A) dezm@ (EB/ il e
€ % (D) . F%I T
In fish, respiration takes place through
(A} mouth (B) gills
(€] nose (D) lungs
17, f%eiare-ar (kWh) ams 2

(A)  FAT 1 P

(C) z&uH %1 W‘W

Kilowatt-hour (kWh) is the unit of

(A) energy (B) time

(C) mass (D) power
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18. mﬁmﬁmﬁaﬁmﬁmaﬁﬁdﬁa%mm%
W TEmII @ g
(C) I g (D) wRae ZR
The amount of light entering in human eye is controlled by
(A) ciliary muscles (B) pupil
(C) cornea (D) inis
19. HA-H WYWTE Sl Ha R ?
A) TR =t @ B) @M Ft @a
(C) Jaumn (a@mm) (D) A HHE A

Which is the conventional source of energy ?

(A) Nuclear energy source _ (B) Geo-thermal energy source

(C) Biomass (D)  None of these
20. Mﬁﬁﬁ«wﬁﬁmm@aﬁ%
| (A)  4n? B) 3n?
© 2n® O n?

The maximum number of electrons in a shell is

A)  4n? B) 3n?

2
(C) 2n? (D) n

Page 11 of
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21.

22.

23.

A EregreEa wed ww A R 2
(A) e (8) M

() oA (D) ¥
Which hydrocarbon is the simplest compound ?

(B) Propane

(A) Methane
(C) Butane (D) Ethane
fr= § A frm urg 1 oS wEE w0 8 2

(A) Na (B) Cu

(€ Fe (D) _ Al

Which of the following metals has the lowest melting point ?
(A) Na (B) Cu

(C) Fe (D) Al

|1 # T weai f

(A) 23 {51/43 -

€ 79 (D) 80

The atomic number of gold is

() 23 B) 43

“ 7 D) 80
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24,

25.

26.

(212
frafefaa & 9 o@w 2 ?

(A) HCI (B) NH,OH

(C) NaOH D)  K,80,

Which of the following is a salt ?

(A) HCI (B) NH,OH

(C) NaOH | (D) K,SO,

Rt F IEAG WTl A S H QW g e F w9 § e s @
(A)  WET (B) STSTIcHS »

W | (D) Tergor

The expulsion of water through stomata in the form of vapour from

the aerial part of the plant is known as

O o
(A) osmosis 6%6 (B) transpiration
& .
{C) cxcrctio®$ (D) diffusion
&9 IYAIET 2
(A) e O} & @) feda ot &R F=
@/ gdfta dit T B (D) T & HE T

The tiger is a consumer of

(A) first trophic level (B) second trophic level

(C) third trophic level (D) none of these
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27.

A %1 3 v 8

(A) / W@ @ <M

) I (D) IR
The place of origin of human is

(A) India (B) China
(C) Africa (D) America

08. wATHEA Y aTd WA

29.

(A)  Frem d B) &I |
(C) FAE W (D) @B Hfad

Peristalsis movement i1s found in

(A) Colon (B)  Oesophagus
(C) Pancreas (D) Small intestine
gen yREEd a3 S g

(A) IR A @/ forereft 3

(C) wF=# D) s

Open circulatory system is found in
(A)  pigeon (B) butterfly

(C) man (D) cat
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30.

31.

32.

o 8§ AR 1 T R

(A= (B) ghit

(€) gt D)  wreiEme

The carrier of oxygen in blood is

(A) fat (B) hormone

(C) haemoglobin (D) carbohydrate
qHa | AiEm A N 6 g Bh 2

(A) 24 (B 23

€ 11 (D) 22

The number of pairs of autosomes in human is

(A) 24 (B} 23
"~
C) 11 §,§ (D) 22
) N :
~YhTdl CaR: Ll CiRY

YIS YO @ﬁm A2 Ry 2
(fu/ el B) Hen

(C) diem (D) &

The most effective colour of visible light

photosynthesis is

(A} red (B) blue

(C) yellow (D) green

[212]

spectrum for
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33.

34.

35.

mwﬁ%ﬁ:ﬁm%aﬁaﬁﬁfldﬂﬁm@?ﬁﬂ
(A) |EH (B) ﬁ‘rﬂ
©) (A) 3 (B) T D) FTHA ¢ 78l

iodic table is
The valency of all elements in a group of the periodi

(A) same (B) different

(C) both (A) and (B) (D) none of these

frerifea § F17 T % &9 F 3o F A R ?

(A) T (B) RS

(c) Rt (D) AN TH A
Which of the following is used as wine ?

(A) Ethanol (B) Methanol

(C) Vinegar (D) Methanoic acid

aad avft Rgda of 4 at f g P R 2
(A) 18 B) 12
(C) 10 (D) 8

What is the number of elements in the third group of the period
table ?

)18 (B) 12

€ 10 D) 8
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36.

37.

38.

R ﬂ? 1 freet 3w g 4 »
) R ®)
() fiferem (D)
Which is used in Solar cel] ?
(A) Uranium (B)
(C) Silicon (D)

[212]

s
R

Plastic

Plutonium

T a1 RIS B 2, 8, 7 81 59 a6 g dem w2 2 2

(A) 10 (B)

), 17 (D)

11

19

The electronic configuration of an element is 2, 8, 7. What is the

atomic number of the element ?

(a) 10 (B)
€ 17 (D)
g ey 1 fravmg @ 2

(A) Fe (B)
€ Al (D)

11

19

Sn

Cu

Duralumin is an alloy of which metal ?

(A) Fe

(C) Al

(B)

(D)

Sn

Cu

H/S-24(M)/ 72042-(77/80)
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39.

40.

41.

feam wieRe 1 L g @
\_[VN33PO4

(A) NaPO,

(Dl Nagpo4
(C) Na,(PO4)3 _

. hate 1S
The molecular formula of sodium phospP
Na,PO
(A) NaPO, (B) 3
Na,PO

(C) Nay(PO4)3 (D) s
g i dreT T BRI v B e 8
A) T (B) e
© WRER - (D)
The structural and functional unit of kidney is called
(A) Urinary bladder (B). . Glomerulus
(C) Bowman's capstile (D) Nephron
vq faga st dGe i 9@ s9-2-+n fFaf @ =fee 2
(A) 1500 fft e (B) 150 femft yuen
€) 15 fwftaa (D) 1.5 feht/ua
What should be the minimum speed of wind in a wind ele¢
generator ?
(A 1500 km/h (B) 150 km/h
€ 15km/h O) 15 km/h

M S '
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42. foeh 918 9T Fen R ]
(A) e s (B) D.C. ®@ex i
(©) A ) 3 3 o 7
A split ring is used in °
(A) galvanometer (B) D.C. motor
(C)  microscope (D)  none of these
43. wﬁﬁwwﬂ%mﬁmmﬁnﬁmm%?
(a) TR (B) s
(G 4 | (D) ¥ &+ 7
Metallic conduction is based on motion of which particle in
material ?
(A) Electron (B)  Proton
(C) Neutron (D) ‘None of these
44. WFE-TFT WK G F FH W F HlT F 7w @@ {1 www w02
@) ffeor g s A El B aw
©) wra ¥ Mt el H I A
(D) T8 @ g &
—_— Page 19 of 40
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type solar cooker has a glass cover n

x-
The upper part of & B°

reason for this is
(A) to sce whether the food kept inside the cooker is beir‘

cooked or not https:waw.bsebstudy.cnm

(B) to prevent loss of heat due to radiation

(C) to prevent the passage of dust into the box

(D) none of these

45. Weed v, WARw P, ¥ @ wfus, Seea v, @ wfe P,  wfdus
soft F o1 }) Augew wielw A

v: y2 p2 p2
A) S-+= (B). -2
Pl Pz . Vl V2
P +P . P

1
T R
1+ Va) v v

A resistor of power P at voltage of V| is connected in series wit
another resistor of power P, at voltage V,. The equivalen
resistance will be

2 2
"4 V2 P2

2
A B +5 ® L.,B
R K Vi v,

F +P
" PP
© 3 D) —L+=2
(Vi +V,) Vlz V22
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46. ﬂiﬂ*ﬂ“‘r&mxﬂwm (212
(A S0 Hz
(B) 60 H2
(C) 100 H2
(D) 220 Hz
The frequency of alte i
m .
ating current in household electric circuit is
(A) SO Hz
(B) 60 Hz
(C) 100 Hz
(D) 220 Hz
47. TrateRen O frgey :
HITATH o F By ' 3
A QI E|
(A) (B) s
(C) g (D) frrein
Which of the following has the lowest refractive index ?
(A) Turpentine (B) Benzene
(C) Water (D) Kerosine
48. U gunry g frd aagi A wan & 2
@ 3 ®
e s D) 6
A simple prism is bounded by how many surfaces ?
B 4
A) 3 (B)
(D) 6
(C) S '
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49. qﬁmqum%

B 4

(a) v < a
(D) I

(C) I 4 N

Kidney helps in _
[B] rcproducnon

(A) respiration

(C) excretion (D) digeston

50. Y GYAWO BT 8

(A)  gaE-I ;\9‘/ 3 o

{C]ﬁ f7-ua (D) ¥ae T H

Photosynthesis takes place during

(A) Moming—cvcning@@ (B). Day only

(C) Day-night Q§§\\ (D) Night only
51. fyifes ate @Q\s?m 2

A Tm ®) s

(C) 3femH (D) =g it

Synaptic knobs are found in

(A] kidney (B) brajn

(©) ovary (D)  neuron

[H/S-24(M); 72042—{7wami Page 22
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52. ﬁqﬁmﬁ“‘muwﬁmvnﬁm%?
(A)  Erefi R

19'/@ (D) B«

Which of the followmg has the fastest heartbeat ?

(A) Elephant (B) Human
(€)  Rat (D) Whale
53. wRFR A Iaamas
(A) WA (B) TN
(€) == (D) 378 & #1§ T
Which of the following is cellular fuel ?
(A) Protein g\@@ (B) Glucose
(C) Fat 6&‘% (D) None of these

&
54. ATPH Giobe# geq feant A1 & ?

A) T& | B) @

Mﬂ (D) =W

How many phosphates are there in ATP ?

(A) 1 (B) 2
(C) 3 (D} 4
H/S-24(M)/72042-(77/80) - Page 28
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|2

G , -
: erenforfge & v T T I i T
(A) HHF B I7
) s D)

Which of
(B) Kidney
(A) Lungs
(D) Skin
(C) Pancrcas
56. wEd B sia:are ufa &
(A) s (B) UqTRIES
()~ dfaae (D) FH A ®E
The smallest endocrine gland is
(A) Adrenal (B) Thyroid
(C) Pineal (D) None of these

57. @ apa FA FYAPL TG B &

(A) H* H1T (B) OH™ A4
(C) wwRRA (D) =g

All acids dissolve in water to give

(A) H%ion (B) OH ion
(C)  electron (D) neutron

—_—
H/S‘g‘q'{M] /72042-{77;30'
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fr=ifea Dt § o
Qo | 2
a1 TR

(A) H

B) cH.o

O

(C) H,SO, { aCOOH

D) HNO

ich of t 3
which of the fﬂllﬂmng COMpoungs i
a weak acid ?

(A) HCI ct

C H,SO
(C) 29U, D) NG,

‘5‘/ w - ®) e

© e O
What is the colour of silver iodide ?.

(A)  White | (B) Blue
&

S
(C)  Yellow &6\ (D) Green
O

60. mrﬁﬁtu@ﬁmwﬁ%

A) =1 (B) ®MI

Q0 o) <@

The hardest natural substance 18

(A)  Silver (B) Gold
(D) lron

(C) Diamond L Page
— — H/S‘24{M]/72042 I
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qqed & 7
o el 6 Frad @ER 2
(B)
(A) 1 o) 4
How.many crystﬂlllne allOl‘.l‘Opcs
® 2
(A) I
o 4
. C} 3 .
02 Fﬁﬁgmmﬂmﬁ%? |
| Z
(A) Mg B
(C) Pb (D) Au
Zinc blende is an ore of which metal ?
(A) Mg B). . Zn
(C) Pb (D) Au
63. ARZNH & Y § Rt & i fFad ey € ?
w 1 B) 2

3 D) 4

How many bonds are there between two atoms in a 1

nitrogen ?

(A) 1 ' ®
2

C) 3 D
) 4

T rrs——
>
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65.

66.

YEHTET H WmTy T A [212]
B CnHan, (B)
Cc
{C' nH2n-.2 ﬂH?n
D cH,
The general formy), of alkyne ; n-1
C1s
A CaHan,, ®)
c CnHﬂn
(© nHan-2 D) cH
h a; n "2n-1
A) 25 furht (B) 25 f
(C) 25+ (D) 3ra
The far point for the normal vision is
(A) 25 mm (B): ‘125.cm
(C) 25m (D) infinity

afe feeht firm =1 yRfem & e woew 8, @ W shefew sl

a1 grft ?
(A) vt sl () 3mw e e

(C) I 3R I (D) arefa® I I
What will be the naturc of the image of an object, if magnification
at wi

of the image is negative ?
(A) Real and erect (B) Virtual and erect

(D) Real and inverted

(C) Virtual and inverted

/72042-17/89) Pagf: 27 of 4
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67.

68.

69.

[ 21y

THIY & qUadd & fpad Pam & 2

(A) 1 (\E}, 2
€ 3 (D) 4 |
How many laws are there for reflection of light ?

(A) 1 (B) 2

€ 3 (D) 4

Wmﬁm@mmwaﬁaﬁmﬁm@?ﬁﬁlmﬁmn
w1 M

(A)  135° ®) 90"
(C) 45° Jp{/ 0°
N |

A ray of light is ing@knt perpendicular to a plane mirror. The angle

N
of reflection \@Q‘gc

$

(Ay 135° (B) 90°
(C) 45° | (D) o0°

YIS & ST F BT () rfres ot v 2 o
(A) e (B) =W

C) @ QL)/‘ﬂ'ﬂT
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f

which colour of |;
ight SCatterg More : [212)

(A) Yellow €in atmoaphére 5

B) o
(C) Red range

(D) B

, @A SR o e
(A) P T IgEy g —
B TIAA AR

(C) I T Iuw g s

D) 78 3 3 g

Converging lens in gj, is

(A) Concave leng .
of glass (B)  Plano-concaye lens of glass

(C) Convex lens of glass (D) none of these

1. ﬂﬁ '\'ﬂaflil ?-‘Fful 1 ﬁﬁ?ﬂ YT Wiy {am, &, T
(C) Tl M (D) T ¥ B T

If the lower half efa concave mirror gets broken then the image

(A)  will form erect (B)  will be halved

(C)  will be less intense (D) none of th_cse

) aamaﬂﬁm%‘m(ﬁmmm)ﬂﬁa(wm)ﬁm%,ﬁag

7g Wl 2
(a)/ frea d@ g ®) o
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arer medium ) to glass (;

W ' r
r v m air (8
hen a ray of light tré8 els fro

; ds
dium ), it ben
denser me s the normal

(A) away from the normal (B toward
(C) parallel to the normal (D) none of these
73. Wmmmﬁwﬁnﬁﬁﬂﬁmt ?
a, T B @
© ww o) o
Which one of the following is the natural source of oxalic acid ?
(A)  Tomato (B) Tamarind
(C) Orange D)~ Vinegar

74. WA #1 f® GIEC,H, X1 w
(A) 7 wEEdaE ey 3 (B) 8 WEEANH WY R
(C) 9 wxEd® Jay R (D) 10 HFEATS @Y R
Propane, with the molecular formula C,Hg has

(A) 7 covalent bonds (B) 8 covalent bonds

(C) 9 covalent bonds (D) 10 covalent bonds
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ﬁisilﬂm
%H?lﬁm .
"“’I%"rmaﬁ
A S R & wom w2 o
B
(C) W&I’Fﬁm (T
D) w3 3 o

(A)  Infrareq

(C) Ultravi olet
(D) All of these

-4l
6. 3|:"§m%aqulﬂmﬂmmﬁmm%?

(A) 9 o o

(C) W o |
Which non_'mctal is found in liquid state at room temperaturc ?

(A} Mercury (B) Bromine
(C}  Sulphur D) Sodium

(A) | Fe B) Cu
a metalloid ?

one of the following 18

Which
(B) Cu
(A) Fe
(D) As
(C) Ni I

- - |H/S—24(M]/72042-m;ao|
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0. (g) 8 gl & afrfed 272
78 CaCO,(s) -» CaO(s)+ €2
(A) :—::rm (B) gaAa
o " f reaction ?
CaCoO,(s) -+ CaO(s) + CO2 (@) is what YP€ o. |
(A) Decomposition (B) Combination
(D) Double displacement

(C) Displacement

rifira § @ At agfer 8 2
(B)

79
Zn+ H,S0, = ZnSO, + H2

(A) Mg+0,— MgO
\[-C)-”. Fe+Cl, = FeCl, (D) H, + Cl, —» HCI

Which of the following equations is balanced ?

(A) Mg + 02 - Mg%@ (B} Zn + HQSO4 - anO4 + H'2
(C) Fe+ClL, - Iy (D) Hy +Cly = HCI
P
80. mﬂaﬁgﬁmmﬁﬁmwm% ?
(A) TGRS (B) TR SHATHTS
(€ 3 (D) e[ EHNTFqTES
Which of the following causes acid rain in industrial areas ?
(A) Chlorofluorocarbon (B)  Sulphur dioxid
ide
(C)  Ozone D
(D)  Carbon dioxide
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‘RIBECTION..B [212)

fach question carries 2 m
> arks. 4x2=8

), A T W AmifEa i v | . .

L

Draw a labelled diagram of electric bulb.

) ghefdusmio | )

What is persistence,of vision ?

a@ﬁ@amﬁmﬁﬁmmﬁmm-ﬁm%m%m

2

faor am@ @il

Draw a ray diagram to show refraction of ray of light at both the

refractive surfaces of a prism placed in air. -

g & g @ s 3 GAeA § 2 ! Sl A ford |

What do you mean by power of lens ? Write its SI unit.
a

Page 33 of 40
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l

5. o gEaee @ 8 ? a1 T Rt M@ ETE | 2
What is a simple microscope ? Draw its ray diagram.
y ST % s 1 frm 8 ? 2
What is the law of refraction of light ?
7. ‘oAU’ @ 9 R A E ? 5
What do you understand by ‘short-circuit’' ?

8 frflan s TRAY IEH FATFY FEH b A SR a2 2 o

How is the resistance of a wire affected by its area of

cross-section ?

i I W9 / Long Answer Type Questions

yT §EqT 9 A zoa?#aaﬁvméfsaﬁ#ﬁm?wwma“fﬁwm

F fory 6 o frefRa 1 Ix6=6

Question Nos. 9 anil 10 are Long Answer Type. Answer any one of them

Each question carries 6 marks. Ix6=6

mmm@maﬁmm@mmmﬁm
w6 R=2f

9.

6

Define focus of a concave spherical mirror. Prove that in a concave

mirror R= 2f .

Tar e ——
H/S-24(M)/72042-177/89)]
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"o TYpe Questi
# HET 11 R 14 o
ﬁk'zaiﬂ?ﬁ‘qufﬁat' | I &) i &

4x2=8

xestion Nos. 11 ¢o 18 are Short A
nswer

Type. Answer arn '
\ 4
fach question carries 7 , art J 7 questions.

f‘/ﬁqwaﬁ*f’ﬁwﬁ%ﬂmmw.
&

4x2=8

1 +1]

(a) o= +
; ﬁﬁ;é@%mwaum
Q
(b) @ﬂ-—bmmq-m

Write the balanced chemical equations for the following reactions :
(a)  Zinc + Silver nitrate — Zinc nitrate + Silver

(b)  Sodium + Water - Sodium hydroxide + Hydrogen.

>/ 3 WV g ¥ HeR e 2 2

&

What are the essential steps for forest conservation ?
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[212]

mﬁqg@ﬂmmm%|mﬁ?

13,/

A
Why does carbon mainly form covalent compounds ?

14 F @ﬁﬁﬁmﬂﬁmﬁﬁwm%? ﬁmaﬂ%m
forfigu) 2
What is the difference between displacement and double
displacement reactions ? Write equations for these reactions.

15.  HN I@ B §g FWQ ¥ forg R wifem i w1 3w e S &, 3w
am ford ) 2
Name the sodium compound which 1s used for softening hard
water.

"~
16. A 1 8 ? &5 2
N
N\
S

What is Ano&ing ?

17. @9 vqrd @ 3wt & §9 @ aim #i g 2
Write two differences between minerals and ores.

&,f'mmmmmﬁwmmgwﬁ? 2
The aqueous solution of sodium carbonate is alkaline. Why ?
{ H/S-24(M)/72042-(r7/80) Page 36 of 40
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ion Nos. 19 and
sestion 20 are Long Answer Type. Answer any one of them.

thuestl'{)ﬂ can‘iesSmarks. 5=5
I x5=

ST J U A R B By v i e 3w e G

afirfspan = ford) 5

write down the laboratory method of preparation of methane and

its chemical reaction with chlorine.
a/aa‘fﬁmmﬂsﬁ?ﬁmw'mma?_ 5
What is the effect of deforestation on wildlife ?

wia fasr / Biology

Ag I99 Wi / Short Answer Type Questions

7 weAar 21#23ﬁwm?tﬁ#w4wﬁm$:mm

t fro 2 s Frtfd 21

s. 21 to 28 are Short A

4x2=28

nswer Type. Answer any 4 questions.
4x2=8

2 marks.
2

Question No
ach question carres

3y mﬁw%ﬁﬁ%@'

of reproduction in livin

] tance
Write the impor
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(}%

23.

[212
& ot § 3R |
Explore the difference between blood and lymph.
qre yaaT &1 R ?

What is external respiration ?

g/wﬂzﬁmmﬁma? 2

25.

26.

27.

28.

Why do we sweat in summer ?

TN YISV 991 2 P ¥E) vEntre wfufra & e fod) 2

What is photosynthesis ? Write the equation of its chemical

reaction.

Sq-mEdT T R ?

What is bio-magnification ?

W qn i v §

What is the role of stomata and lenticels in respiration ?

TR 01 8 P 2

What is ascent of sap ?
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Draw a labelled diagram of human digestive system and explain

the digestive process of food.

9. JTER @ F41 ¢ ? T T ITET GRT Al

What is a food chain ? Explain it with an example.
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